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•Õ¸‡ÊÊSòÊ ó ¬˝Õ◊ ¬òÊ
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‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 60

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –

Candidate must write first his / her Roll No. on the question paper

compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ „UÙŸ ¬⁄U
Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –

If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should

be treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 ∞fl¢ 24 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
All the questions are compulsory. Question Nos. 23  and 24  have
internal choices.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –

Write the answer to each question in the given answer-book only.
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5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§UflÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜
Á‹π¥ –
For questions having more than one part carrying similar marks, the

answers of those parts are to be written together in continuity.

6. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ ¬˝‡Ÿ „Ò¥U–
Question Nos. 2 to 5 are very short answer type.

7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U Áfl∑§À¬
( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê
’ŸÊ∑§⁄U Á‹π¥ —
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has

four alternatives A, B, C and D . Write the letter of the correct

alternative in the answer-book at a place by making a table as

mentioned below :
¬˝‡Ÿ ∑˝§◊Ê¢∑§

Question No.
‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U
Correct letter of

the Answer

1.       (i)

1.       (ii)

1.       (iii)

1.       (iv)

1. (i) ÷ÊÁ⁄UÃ ‚Ë◊ÊãÃ ©U¬ÿÊÁªÃÊ ∑§Ë ‚◊ÊŸÃÊ ∑§Ë ‡ÊÃ¸ „ÒU

(•)
MU x
P x

  = 
MU y
P x

  (’)
MU x
MU y

  = 
P x
P y

  

(‚)
MU x
P x

  = 
MU y
P y

  (Œ)
MU x
MU y

  = 
P y
P x

   .

The condition of equality of weighted marginal utility is

(A)
MU x
P x

  = 
MU y
P x

  (B)
MU x
MU y

  = 
P x
P y

  

(C)
MU x
P x

  = 
MU y
P y

  (D)
MU x
MU y

  = 
P y
P x

   .
1
2 
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(ii) ¬ÍáÊ¸ ¬˝ÁÃÿÊªË ’Ê¡Ê⁄U ◊¥ ∑§Ë◊Ã ∑§Ê ÁŸœÊ¸⁄UáÊ Á∑§ÿÊ ¡ÊÃÊ „ÒU

(•) Áfl∑˝§ÃÊ mÊ⁄UÊ (’) ∑˝§ÃÊ mÊ⁄UÊ

(‚) »§◊¸ mÊ⁄UÊ (Œ) ©UlÊª mÊ⁄UÊ –

In perfect competitive market, price determination is done by

(A) seller (B) buyer

(C) firm (D) industry.
1
2 

(iii) Á¡‚ ’Ê¡Ê⁄U ◊¥ »§◊¸ ∑§Ê ◊Ê¢ª fl∑˝§ •àÿÁœ∑§ ‹ÊøŒÊ⁄U „UÊÃÊ „ÒU, fl„U ’Ê¡Ê⁄U „ÒU

(•) ∞∑§ÊÁœ∑§Ê⁄UÊà◊∑§ ¬˝ÁÃÿÊÁªÃÊ (’) ∞∑§ÊÁœ∑§Ê⁄U

(‚) ¬ÍáÊ¸ ¬˝ÁÃÿÊÁªÃÊ (Œ) •À¬ÊÁœ∑§Ê⁄U –

The market in which demand curve of a firm is excessively

elastic, that market is

(A) monopolistic competition

(B) monopoly

(C) perfect competition

(D) oligopoly.
1
2 

(iv) éÿÊ¡ ∑§ Ã⁄U‹ÃÊ ¬‚¢ŒªË Á‚hÊãÃ ◊¥ SflÃ¢òÊ ø⁄U „ÒU

(•) ◊Èº˝Ê ∑§Ë ◊Ê¢ª (’) ◊Èº˝Ê ∑§Ë ¬ÍÁÃ¸

(‚) ’øÃ (Œ) ÁŸfl‡Ê –

The independent variable in liquidity preference theory of interest

is

(A) demand for money (B) supply of money

(C) saving (D) investment.
1
2 
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2. ‹ªÊŸ ∑§ •ÊœÈÁŸ∑§ Á‚hÊãÃ ∑§ •ŸÈ‚Ê⁄U ‹ªÊŸ ôÊÊÃ ∑§⁄UŸ ∑§Ê ‚ÍòÊ Á‹Áπ∞ – 

Write the formula to find out the rent according to Modern theory of

rent.1

3. ‹Ê÷ ∑§ ¡ÊÁπ◊ Á‚hÊãÃ ∑§Ê ¬˝ÁÃ¬ÊŒŸ Á∑§‚ •Õ¸‡ÊÊSòÊË Ÿ Á∑§ÿÊ ? 

Which economist propounded the risk theory of profit ? 1

4. ∑§ÊÒÁ≈UÀÿ ∑§ •ŸÈ‚Ê⁄U “œ◊¸” ∑§Ê ◊Í‹ ’ÃÊß∞ – 

According to Kautilya, state the basis of ‘Dharma’. 1

5. ¬˝Ê0 •◊àÿ¸ ‚Ÿ ∑§Ê Á∑§‚ ˇÊòÊ ◊¥ ÿÊªŒÊŸ ∑§ Á‹∞ ŸÊ’‹ ¬È⁄US∑§Ê⁄U ÁŒÿÊ ªÿÊ ? 

For contribution in which area was Prof. Amartya Sen awarded by

Nobel prize ? 1

6. ¬˝ÁÃSÕÊ¬Ÿ ∑§Ë ‚Ë◊ÊãÃ Œ⁄U ‚ ÄÿÊ •Á÷¬˝Êÿ „ÒU ? ‚◊¤ÊÊß∞ – 

What is meant by the marginal rate of substitution ? Explain. 1 
1
2  

7. ©Uà¬ÊŒŸ »§‹Ÿ ∑§Ë ÃËŸ ◊ÊãÿÃÊ∞° ’ÃÊß∞ –

State three assumptions of production function. 1 
1
2  

8. ‚◊Êà¬ÊŒ ◊ÊŸÁøòÊ ‚ ÄÿÊ •Á÷¬˝Êÿ „ÒU ? ÁøòÊ ‚Á„UÃ ‚◊¤ÊÊß∞ –

What is meant by the isoproduct map ? Explain with diagram.

1 +  1
2   = 1 

1
2  

9. Áfl‡ÊÈh ¬˝ÁÃÿÊÁªÃÊ ∑§Ë ÃËŸ Áfl‡Ê·ÃÊ∞° ’ÃÊß∞ –
State three characteristics of pure competition. 1 

1
2  

10. ¬ÍáÊ¸ ¬˝ÁÃÿÊÁªÃÊ ∞fl¢ ∞∑§ÊÁœ∑§Ê⁄UÊà◊∑§ ¬˝ÁÃÿÊÁªÃÊ ◊¥ ∑§Êß¸ ÃËŸ •ãÃ⁄U ’ÃÊß∞ –

State any three differences between perfect competition and
monopolistic competition. 1 

1
2  
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11. ‚Ë◊ÊãÃ •Êª◊ ©Uà¬ÊŒ∑§ÃÊ ∑§Ë •flœÊ⁄UáÊÊ ∑§Ê ‚◊¤ÊÊß∞ – 
Explain the concept of marginal revenue productivity. 1 

1
2  

12. ªÊ°œË¡Ë ∑§ ¬˝ãÿÊ‚ Á‚hÊãÃ ∑§Ë ∑§Êß¸ ÃËŸ ¬˝◊Èπ ’ÊÃ¥ ’ÃÊß∞ – 
State any three major issues of Gandhiji’s trusteeship principle. 1 

1
2  

13. øÃŸ ∞fl¢ •øÃŸ •Êfl‡ÿ∑§ÃÊ•Ê¥ ◊¥ •ãÃ⁄U ’ÃÊß∞ –
Differentiate between conscious and subconscious wants. 1 

1
2  

14. “√ÿÁc≈U ∞fl¢ ‚◊Ác≈U •Õ¸‡ÊÊSòÊ ¬˝ÁÃÿÊªË Ÿ„UË¥ •Á¬ÃÈ ¬Í⁄U∑§ „Ò¥U –” ß‚ ∑§ÕŸ ∑§ ¬ˇÊ ◊¥ ∑§Êß¸ ÃËŸ
Ã∑¸§ ŒËÁ¡∞ –

‘Micro- and Macro-economics are not competitive but complementary.’

Give any three arguments in favour of this statement. 3

15. ◊Ê¢ª ◊¥ flÎÁh ∞fl¢ ◊Ê¢ª ◊¥ ÁflSÃÊ⁄U ∑§Ê ÁøòÊÊ¥ ∑§Ë ‚„UÊÿÃÊ ‚ ‚◊¤ÊÊß∞ – 

Explain increase in demand and expansion in demand with the help of
diagrams. 1 

1
2  + 1 

1
2  = 3

16. ◊Ê°ª ∑§Ë •Êÿ ‹Êø ∑§Ê ‚ÍòÊ ‚Á„UÃ ‚◊¤ÊÊß∞ – 

Explain income elasticity of demand with formula. 2 + 1 = 3

17. ¬Ò◊ÊŸ ∑§ ¬˝ÁÃ»§‹Ê¥ ∞fl¢ ©Uà¬ÁûÊ ∑§ ÁŸÿ◊Ê¥ ◊¥ •ãÃ⁄U S¬c≈U ∑§ËÁ¡∞ – 

Differentiate between returns to scale and laws of returns. 3

18. ÁŸêŸ ÃÊÁ‹∑§Ê ∑§Ë ‚„UÊÿÃÊ ‚ ∑È§‹ ÁSÕ⁄U ‹ÊªÃ, ∑È§‹ ¬Á⁄UflÃ¸Ÿ‡ÊË‹ ‹ÊªÃ ∞fl¢ ∑È§‹ ‹ÊªÃ ∑§Ë
ªáÊŸÊ ∑§ËÁ¡∞ —

( L§¬ÿ ◊¥ )
©Uà¬ÊŒŸ ∑§Ë ◊ÊòÊÊ ∑È§‹ ÁSÕ⁄U ‹ÊªÃ ∑È§‹ ¬Á⁄UflÃ¸Ÿ‡ÊË‹

‹ÊªÃ
∑È§‹ ‹ÊªÃ

0 100 00 ……

1 100 …… 200

2 …… 170 270
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Calculate the total fixed cost, total variable cost and total cost with the

help of the following table : 1 + 1 + 1 = 3
( in Rs. )

Quantity of
Production

Total fixed cost Total variable
cost

Total cost

0 100 00 ……

1 100 …… 200

2 …… 170 270

19. •Ê¬∑§Ë ŒÎÁc≈U ◊¥ ∞∑§ÊÁœ∑§Ê⁄U ◊¥ ‚Êêÿ ÁŸœÊ¸⁄UáÊ ∑§ Á‹∞ ∑§ÊÒŸ-‚Ë ÁflÁœ üÊc∆U „ÒU •ÊÒ⁄U ÄÿÊ¥ ?

In your views, which method is best for determination of equilibrium

in monopoly and why ? 3

20. ¬˝ÁÃÿÊªË ’Ê¡Ê⁄U ◊¥ ©UlÊª ∞fl¢ »§◊¸ ∑§Ë •flœÊ⁄UáÊÊ ∑§Ê ©UŒÊ„U⁄UáÊ mÊ⁄UÊ ‚◊¤ÊÊß∞ – 

Explain the concept of industry and firm in competitive market with

example. 3

21. ∑§ÊÒÁ≈UÀÿ mÊ⁄UÊ flÁáÊ¸Ã ◊¡ŒÍ⁄UË ÁŸœÊ¸⁄UáÊ ∑§ Á∑§ã„UË¥ ÃËŸ Á‚hÊãÃÊ¥ ∑§Ê ‚¢ˇÊ¬ ◊¥ fláÊ¸Ÿ ∑§ËÁ¡∞ –

Describe briefly any three theories of wage determination described

by Kautilya. 3

22. ‚◊-‚Ë◊ÊãÃ ©U¬ÿÊÁªÃÊ ÁŸÿ◊ ∑§Ë ‚ÁøòÊ √ÿÊÅÿÊ ∑§ËÁ¡∞ – ß‚ Á‚hÊãÃ ∑§Ë ∑§Êß¸ øÊ⁄U ‚Ë◊Ê∞°
’ÃÊß∞ –

Explain the law of equimarginal utility with diagram. State any four

limitations of this law. 4 + 2 = 6

23. ŒÊ √ÿÁQ§ªÃ ◊Ê¢ª •ŸÈ‚ÍÁøÿÊ¥ ∑§Ë ‚„UÊÿÃÊ ‚ ’Ê¡Ê⁄U ◊Ê¢ª •ŸÈ‚ÍøË ∞fl¢ ’Ê¡Ê⁄U ◊Ê¢ª fl∑˝§ ∑§Ê
ÁŸœÊ¸⁄UáÊ ∑§ËÁ¡∞ –

•ÕflÊ

◊Ê¢ª ∞fl¢ ¬ÍÁÃ¸ ∑§ ‚Êêÿ ‚ ÄÿÊ •Á÷¬˝Êÿ „ÒU ? ◊Ê¢ª ∞fl¢ ¬ÍÁÃ¸ ∑§ ¬Á⁄UflÃ¸ŸÊ¥ ∑§Ê ‚Êêÿ ¬⁄U ÄÿÊ
¬˝÷Êfl ¬«∏UÃÊ „ÒU ? ÁøòÊ ∑§Ë ‚„UÊÿÃÊ ‚ ‚◊¤ÊÊß∞ –
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Determine the market demand schedule and market demand curve

with the help of two individual demand schedules. 2 + 2 + 2 = 6

OR

What is meant by equilibrium of demand and supply ? What is the

effect of changes in demand and supply on equilibrium ? Explain with

the help of diagram. 2 + 3 + 1 = 6

24. ∑È§‹ éÿÊ¡ ∞fl¢ ‡ÊÈh éÿÊ¡ ◊¥ ÄÿÊ •ãÃ⁄U „ÒU ? éÿÊ¡ ∑§ ¬˝ÁÃÁc∆UÃ Á‚hÊãÃ ∑§Ê ÁøòÊ ∑§Ë ‚„UÊÿÃÊ

‚ ‚◊¤ÊÊß∞ –
•ÕflÊ

•ÊÁÕ¸∑§ ‹ªÊŸ ∞fl¢ ∆U∑§Ê ‹ªÊŸ ◊¥ ÄÿÊ •ãÃ⁄U „ÒU ? ÁflSÃÎÃ ∑Î§Á· ◊¥ ‹ªÊŸ ∑§Ë ©Uà¬ÁûÊ ∑§Ê ÁøòÊ

∑§Ë ‚„UÊÿÃÊ ‚ ‚◊¤ÊÊß∞ –

What is the difference between total interest and net interest ?

Explain the classical theory of interest with the help of diagram.

2 + 2 
1
2  + 1 

1
2  = 6

OR

What is the difference between economic rent and contract rent ?

Explain the origin of rent in extensive cultivation with the help of

diagram. 2 + 3 + 1 = 6

                        


